
國小 數學 科考試卷  ____年____班  座號：_____ 姓名：__________
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2.答案：
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3.答案：
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4.答案：
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＝45，答：45分鐘
5.答案：（64.23－59.8）×60＝265.8，答：265.8公尺
6.答案：18.85÷3.25＋4.2＝10，答：10
7.答案：48÷(6.4×3)＝2.5，答：2.5公尺
8.答案：（0.2＋
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9.答案：4.8×（1－
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10.答案：(51＋62＋54＋57)÷4＝56，答：56公斤
11.答案：52×2＝104，54×3＝162，小君：162－104＝58，小悅：58－10＝48，小婷：104－48＝56，答：小君是58公斤，小悅是48公斤，小婷是56公斤
12.答案：87×3＝261，92×2＝184，83×3＝249，(261＋184＋249)÷8＝86.75，答：86.75分
13.答案：5×9＝45，45－5＝40，40÷(3－1)＝20，5＋7＝12，20－12＝8，答：8年
14.答案：2×20＝40，56－40＝16，16÷(4－2)＝8，20－8＝12，答：狗有8隻，雞有12隻
15.答案：144×2＝288，288÷(160－144)＝18，答：18分鐘
16.答案：890－620＝270，270÷(52－22)＝9，答：9天
17.答案：1520－1190＝330，330÷(31－20)＝30，答：30天
18.答案：（做法僅供參考）
20÷（3－1）＝10，10＋3＝13，10×3＋3＝33，答：媽媽33歲，小珍13歲
19.答案：10.5＋
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20.答案：8.5＋（5－3.8）＝8.5＋1.2＝9.7，答：9.7
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